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3. {a) What is the difference between a probability disteibution and 2 sampling
distribution? [20%)
{b) What distinguishes the four potential sources of error when dealing with
surveys desipned using probabi tity sampling?
{c} What arg the distinguishing features of the completely randomized design,
randomized block design, and two-factor factadal designs?
() What iz imeant by the concept of interaction in o two-factor factorial design?
6. Calculate the power of test for (he Tollowing test of hypothesis, given that y =

204, (10%)
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7. A large brokerage firm wants to determine whether the service it provides to
affluent clients differs from the service it provides to lower-income clients. A
sample of 500 clients are selected, and each client is asked to rate his or her broker.
The results are shown in following Table. Test to determine whether there is
evidence that broker rating and customer income are independent. Use ¢ = 0.10.

(10%)
Client’s Income
Under $30000  $30000-S60000 Over $60000 Totals
OQutstanding 48 64 41 153
Broker Rating ~ Average 98 120 50 268
Poor 30 33 16 79
176 217 107 00

8 Suppose that you have obtained the following multiple regression equation:
¥i=10+5X1i+3 X2i and R* = 0.60 (10%)
(a) Interpret the meaning of the slopes and the meaning of the Y i intercept. .
(b) Imerpret the meaning of the coefficient of multiple determination R*
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